LO: To add fractions
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We can use this model to calculate sts=3
Draw your own models to calculate
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Eva eats % of a pizza and Annie eats % of a pizza.
What fraction of the pizza do they eat altogether?



Rosie and Whitney are solving:
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Rosie says,
:! The answer is g ]

Whitney says,
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The answer is —

Who do you agree with?
Explain why.

Mo and Teddy share these chocolates.

@

They both eat an odd number of
chocolates.

Complete this number sentence to show
what fraction of the chocolates they
each could have eaten.
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